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7-8 Seating Chart:
Group 1 Grou[g 2 GI‘OUQ 3 GI'OU[} 4
Tessa Cynthia Nic Ethan
Ai Lizbeth Will .
" Jose . Darielle
Maxine > Pierre
o Juan Anthony Keymari
ayla
Group 5 Group 6 Group 7 Group 8
Sam D Shawna Omar James D.
Alex Corinne Justine Matt L.
James W. JP Megan Jesus M
Isaiah Yasir Lanie Jordan
Feb 7-7:40 AM

Happy Tuesday, February 7th!

Do Now:
1) Take worksheet from back table
2) Notebooks out please :)

3) Keep quiz to study from

Feb 7-9:45 AM
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An Example from Chemuistry
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pH of our eyes 1s about 7.4

———

We want to balance this!!

Oct 24-7:27 AM
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@ "T'wo Different Pools

pH =—-log(H+)

H+ 15 0.0000000398  H+ 15 0.00000000398
PRSP | U, o , "

Oct 24-7:41 AM

What do you notice about the graph?
\/: - '°3 pos .

Oct 24-7:52 AM
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N

PLUG and CHUG
There are three equations:
6rovvth/Decay\ 7 Half Life ) (Continuous
=A(l+7r) )"
y ( ) y _ A(_) y — Perl‘
y=A(l-r) \_ 2) ) L _/
\ J
PLUG and CHUG
@ Growth/Decay r%ﬂ
4
Y= A(l-l—l”)\y A(l - r e
{ A
m*c Ting hitia)

Amount

amornt.

Feb 7-8:06 AM
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Things to look for:

| o
! Rate:} (usually a pe{gentage) CONVERT TO

DECIMAL.
This 1S your exponent

'Initial Amount) The amount you start with
|GROWTH OR DECA@

Feb 7-9:49 AM

Check out problem 1 on your worksheet:

Rate:
Time:
Iniial Amount:

Growth or Decay?

Feb 7-9:51 AM
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Write a formula that represents the @eragc growth\.of the population of a
city with a rate oer vear. Let x represent The number of years, y
represent the most recent total population of the city, and A 1s the city's
population now. What 1s the expected population inilO yearsyf the city's
population now 1s 22,750 people?

= 075 yzA(l+r‘)t
=10 Y=2a150(| 4 0753'0

A=a31s
150 Y=4p.86. ¢

Feb 7-10:02 AM

/"Half Life ff“
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Feb 7-9:49 AM
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YearS> o \0-3S

Feb 7-10:56 AM

Things to look for:
Half-life:\ Usually says "half-life"
Time.j Time that 1s NOT your half-life

Initial Amou@ The amount you start with
—

Feb 7-9:49 AM
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Check out number 5 on your worksheet!
Half-life:
Time:

Ininal Amount:

Feb 7-9:54 AM

Radioactive gold 12@1 ssAu), used 1 1maging the
structure of the liver, has a half-life of (2.67 day% If the

mitial amount is@ mill@)f the 1sotope, how
many milligrams will be left over after: &)

= A
SERL A A6 g

b Twegk 3 O V= 50(0.5)

Feb 7-10:03 AM
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? Contmuous (_O\Q
=P wCiple :
‘;‘W\O‘jn iy P \l ot | A
(DJ“\«’r y
S’(krt\glt:‘\\s /V /
101K ’ mwdoef
QW\MV\{
Things to look for:
The word CONTINUOUS

Rate: (usually a percentage) Convert to decimal

Time: This 1s your exponent

Iniial Amount: (usually money).

Remember e 1s a number your calculator knows.

Feb 7-9:57 AM
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Check out number 10 on your worksheet!

Do you see the word continuous?
Rate:
Time:

Initial Amount:

Feb 7-9:58 AM

: ' :
Suppose Jorge deposits|$1500 in a savings account

AR .
that earn ~®) nterest compounded continuously.

He plans to withdraw the money 1|6 years%) make

a $2500 down payment on a car. Will there be
enough funds m his account 1in 6 years to meet his
goal? Explain.

Feb 7-10:04 AM
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Unit 3 Formative Graphing Assessment

Exponential and Logs

Given the table d whether it rep a linear or ial function. Justify your answer.
s %
. ¥ X Y
2| 27 ¥\,,5 -2 10 %+ G
1 9 = s
|
0 3 *13 0 0
[ 1 1 1 5
2 -10
2 233 | |
3 .11 8. L

Linear (Eéponential)

Justify \
Mulriply oy '3
Qo WL

Linear)/ Exponential
lustify: Spistracky S
(or add -5 easn ﬁM\

Graph the following function and give the necessary information

5 —(3)% -

EYI S

7 T Intercept: ___ -\ O |=\

D=2~ [y
Symptotes: 5) =-2 2 1

2=3¢

Eoorcecar e

Name:;élﬁ__‘

Period:

[loa 2=x =3%
X 2z et
53 [‘-.mercepnﬂéﬂgp o fu P AR e
we Wi\l diseuss g

4 J(x) =3-(05)F X

¥ Intercept: (0.3 ) 1 \32
Asymptotes: 4 = O — - \ U

2% N
Gruw\ho - 4(__,_ -

x Intercept: NOV\Q-:i

— e T, >

5. Without graphing, determine whether the following function is exponential growth or decay. Justify your reason.

h*-2

=)

CL))vow-\w- becewse Yz \s greeier Pen L,

6. Using the above function modify the parent function so that the following transformation is true

Right 4, down 6

= ) e
New equation —C(X} = (% ) - [.D = (%\ ‘q

7. y = log(x +3)

x Intercept: 'Z O )
Asymptote: # = =2 X

loa.3 H e

" a

v Intercept: 0

2% x43 4
1
T
|
|
1
|
)

|
U
v
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